%

AR TEERRTRL i

%

(I

/

AR 0

[T

25 M145-005 Safety kit 1
24 ACl146-11 Safety cable for shower head cover set 4
23 M173-14 Connector for cable to electrical system 2
22 M146-003 12 Vac switch power supply 1
21 M173-15 Connector cable for power supply 2
20 M173-13 Cable for connection power supply - LED lighting system 1
19 M111-02 Concealed shower head carter 1
18 M173-10 Washer ¢12x4,5 H1 mm 10
17 M173-004 Connection kit for Led lights 1
16 M145-15 Washer with filter 1
15 M110-002 Flow regulator 12 It/min 1
14 M148-10 G1/2" Nut 1
13 AC146-003 Concealed water fall cartridge 1
12 AC146-10 Screw M4x20 2
11 M145-12 M4 Nut 10
10 M190-11 Connection kit for Led lights bracket 1
9 M148-004 Flexible hose G1/2"-G1/2" 2
8 M110-03 G1/2" Connection 1
7 BR0OO5-15 O.Ring 17,17x1,78 1
6 M110-04 Screw M4x10 6
5 AC146-002 Concealed shower head cartridge 1
4 M173-03 Cover for led lights 2
3 AC146-001 Concealed shower head cover set 1
2 M110-05 Screw M6x25 UNI 5933 4
1 M146-002 Remote control for chromotherapy 1
ID Code Description Pcs
Number
Sheet lof3
N° | REVIEW Date Scale 15
Description Material
Concealed shower head with waterfall,
and Led lights, 50x50 cm Weight
0,002 kg

Code Date of issue (Chamfers not quoted Finishi

AC146-00 0310/2025 | 0.5x45° '6_@' rnane] potsind | on h Ot bﬂt h

w‘iiligl:?%p;Z?Eggilzr:t?:;v?ﬁeocf;?/tigzthdizlr.ibution and utilization of this document as well as the communication to others is prohibited l'm}ﬂﬂ mhm




